x2

veumm T X2

Front corner

2
L2

veremm T X2

= %2

7 x3

—

x1
SSM L
XL+TB Short

XXL+TB Long

X4 maiamm

x1

S ML
XL+TB Short
XXL+TB Long

o
O

@ x4

=

T x2wmsumm

Rear corner

veumm T X2
=2 %2

U x3

&
S ML s
XL+TB Short 7 x3

Q.

Rear corner

vemn T X2

x1

XXL+TB Long

XL+TB Short
XXL+TB Long

S,M, L /
Xt+18 Short 2~~~ yR---=---

XXL+TB Long %
” &7 x

T

veumm T X2

& %2

T x3




Cislo dielu

O 0 NO UL A WN -

P PR R R PR R R PR
O oo NOULED WN R O

Nazov dielu
End Cap - Thule Caprock
Screw Nut - Thule Caprock

Front Left Corner + M8 nuts & screws - Thule Caprock
Rear Right Corner + M8 Nuts & Screws - Thule Caprock

Rear Left Corner + M8 Nuts & Screws
Front Right Corner + M8 nuts & screws - Thule Caprock

Profile Rear 1051mm - Thule Caprock S
Profile Front 1024mm - Thule Caprock S

Windshield 864mm - Thule Caprock S

Crossbar 1180mm - Thule Caprock S
Side Logo Left/Right + M8 Nuts+Bolts - Thule Caprock

Profile Side 1111mm - Thule Caprock S+M+XL+TBS
Back Logo + M8 Nut & Screw - Thule Caprock
Cover Strip - Thule Caprock
Screw Side Railing - Thule Caprock & Thule Caprock Railing Kit
Nut Side Railing - Thule Caprock & Thule Caprock Railing Kit
Washer Side Railing - Thule Caprock & Thule Caprock Railing Kit
Screw M8X14, typ: K6S,8.8 - Thule Caprock
Nut Square Nut M8 - Thule Caprock

Cena s DPH
99,00 €
32,00 €
109,00 €
100,00 €
100,00 €
109,00 €
129,00 €
139,00 €
100,00 €
149,00 €
49,00 €
149,00 €
24,00 €
39,00 €
19,90 €
19,90 €
12,00 €
19,90 €
19,90 €



